SHEITUT NTIPS
MRAESHT—AAVT(=ZT 4

[RRIE R LR (Bl 0Bt

( 2024%8H Bt E )
TEOBYAREH BB LML SMSHLET,
JRAH B R 2 AT 25.57 F4/nd (Ft2d)
GEMA]
JRAHE % 5 22 AR 2024437 ~202445R
B VDICe St 92,880 M/t (Bidk)
(b 7= 44 ks B DRTHRE 2 BLNG - LPGE A B 5 £ U A iR
EXE 1 [RORHEE (M) 64090
LNG(F9) LPG(F)
20244F3 0 ~2024457 T 92,280 95,480

b AV RHBEOHE E
b 2 7=YLNGF 19 fHi#5 X 0.9476 + b 2 7=YLPGFH1H# X 0.0669

- 92,280 M/tx0.9476 + 95,480 M3/tx0.0569
= 92,880 M/t(# )

JREHEE BN EROE E

b S 7Y RIS — BT A
= 92,880 M/t - 64,090 M/t = 28,790 M/t

= 28,700 F/t(100mk#L12)

M EAEEMmIH-YRAEB) DEE
JFAHEHE 2% + 100 x 0.0891 —(0.081 > HEHI %K)
= 28,700 M/t +100%0.0891= 25.57 F/m(Bid)




